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50,000& X278 Xx12& = 16,200

o AUSHHIBX4E
NESHM 446, 7703 X30E X0.27X43] = 14,476
0o HERIAFH 36,682
42 3,976, 100&X1EX0.041X12& = 1,957
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5t HIB: (716) H2IZH =:(101) o1 (ctgl : =)
= = 0] AF oH dEE =X s & = =
2;" . &t ﬁl‘ = J =
A (A) Oil AFOH (B) (A-B) = |

52CHS 3,414,500 X7 X0, 041X 12K = 11,760
62CHS 2,853,000 X8X0. 041X 12K = 11,233
72 2,054,600 X2 X0.041X12 = 2,022
IIS62 S 2,976,200 X132 X0.041X5 - 7,932
IIS7T2 U 2,684,800 X2 X0.041X52 = 1,101
HAPAF 3,300,40021 X1 X0, 041X5 = 677
0 JEHBALHTY) 2,280
HMOIOHMZRIN @ BXY 30,0002 X3 X128 = 1,080
SIBSUTAIDIACHE BRI} 30,0002 X2 X122 = 720
NEMSH L HHYR2Y 20,0002 X2 X128 = 480
0 JEHEALYIAD(7TY) 2,280
FO|QHE 22 J| A 30,0002 X3 X122 = 1,080
91329 & Al DFA OFE BH2| J] AF30, 0002 X2 X 12 = 720
HEMSHUFHI(15) 20,0002 X202 X 122 = 480
o0 mjag 99,360
L QUBERI 270,000 X24Z X 128 = 77,760
CEEDQ 270,000 X 16 X5 = 21,600
- = 47,840
QUBHEl 130,0002X24 X122 = 37,440
CEF22 130,0002X 162 X5 = 10,400

O GEEI}Y
1,097,300, 0002 X60%X23] X 1/ 122 = 109,730

O oIt Al
1,097,300,0002 X16/2532 = 69,395

134,729 131,881 2,848 |0 JIEFRE A (101-2)

[ c+m=aD | 134,729
O JIEHE 24 72,874
0 Jl 2 2 2,802,8002X22X122 = 67,268
0 HIAY 67,267,2002X231X0.5/12 - 5,606
O Rt Exag 3,574
0 DS 446,700 X0 T X43] = 3,574
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(700) AbiH HIE IS (716) Mel&Hl  =:(101) 21244 (cto : M)
_ ol A o AT 9x = & . _
st A = J =
(A) Oil AF 24 (B) (A-B) = |
O B2y a2 3,120
o 25¥ 0|4k 130,000 x2&X12& = 3,120
O s 2,400
o i £ X 40,000&x2&Xx12& = 960
o AAEZHIZ 60,000&X2@8X12€ = 1,440
O A2el2gac
8,060 X2 X80AI2HX 12 = 15,476
O sun9ay
64,788RAX1EX117L = 7,581
O o2y
2,687 AX8AI2FX12 X365 = 7,847
O mpjac
270,000& x2¥Xx12& = 6,480
O RE&C
30,000&X1&€X12& = 360
O Hogalyl
130,000 X2E X12& = 3,120
O YRS
72,874,000 X60%X23|X1/12& = 7,288
O eiJt2 Ayl
72,874,000 X16L /253 = 4,609
328,441 324,830 3,611 |0 2oHA22 /22 (101-3)
[ +E=2D ] 328, 441
O E=H20022(49) 208,339
o Jl &2 2,739,730@x4EX12& = 131,508
0 AlZ2t222+% 19,8002 X4HX30AI 2HX12& = 28,512
0 NEAY 3,303
C B2 R 40,0002 X4X0.78X 122 = 1,498
MAE=E 20,000 X4 X0.4 X128 = 384
AAHIE 20,0002 X4 X1.48X12& = 1,421
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(700) AtetH HIS AISH:(716) M2lZHl =:(101) ol (el : ®9)
s Ol & o rSIEI==F 3 z 2 - <
st At = J =
(A) 01l & 24 (B) (A-8) = !
o RE2FR=E 158,400 X1EX117 = 18,533
o HXt==E 105,600FX4EX18L = 7,604
o YEFIHHl 2,739,730&X4& = 10,959
o HAUZAHl  90,000&X4BX12& = 4,320
o gE+E 100,000&X1&8X12& = 1,200
o =¥ 50,000 x4 X12& = 2,400
O AN&szeld(3Y) 120,102
o Jl 28 2,277,700&X38X12& = 81,998
o IHEFHE 2,478
B < X+ 40,000&X3EX0.78X12E = 1,124
HAEZL  20,000X3EX0.4X 122 = 288
ZAHIZ 20,0002 X3EX1.48X12& = 1,066
o AZt2la=& 16,0903 X3EX20AI2FX12& = 11,585
o0 RL2F=E 128,720&X1EX0.5X117L = 7,531
o GxE 85,840 X3 X18& = 4,636
o HAZAH  90,000&X3FX12& = 3,240
o HEFOHHl 2,277,700 X3 = 6,834
o Ha=¢ 50,000&X3E X128 = 1,800
SHP 89,700 120,660 A30,960
1,200 1,200 0|0 M=ZYRL+#AH| (106-1)

[ +E=2D ] 1,200

O HugyeEaY)
52 100,0008X12X128 - 1,200

52,980 72,420 A19,440 |0 =SR2 EH (106-2)

[ +E=aD | 52,980
O get= 50,460
o 5= 250,000&X1EX12& = 3,000
o 6= 155,000&X7EX12& = 13,020
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[(700) AFRIHI®  8:(710) AIAHIS AIE:(716) X2IRH =:(106) XS 2#AH| (ctel @ ®El)
s Ol AF o HAEC 9= z 2 - _
o.E-HE-2 ; & p) =
A (A) Ofl &+ 24 (B) (A-B) “ = |
o 7= 140,000&Xx16E¥X12& = 26,880
o 8=2~9=2 105,000& X6 X12& = 7,560
SE-EEE
105,000& X2 X12& = 2,520
35,520 47,040 A11,520 |0 SHERA82H (106-3)
[ 2= ] 35,520
O BIILEAN SR
80,000&X30H x12& = 28,800
O larZA IS FATIF AR SEk
80,000&Xx5%X12& = 4,800
oF-LEL 1,920
o 2JIESAF 30,000& X2 X128 = 720
o Uolg=Hl 50,0003 X288 X128 = 1,200
S 164,221 156,405 7,816
[ 2==2D | 164,221
O PIHAD2T S=FYI2
328,441,000& X50% = 164,221
0
o 14,186,411 16,476,232 | 12,289,821
201
o2 o 607,741 788,741 181,000
043,492 418,492 A175,000 |0 AbR2IHI (201-1)
[ c+m=aD ] 243,492
O Ybt=ZH| 196, 060
0 SHTULI(SIHAE, A2 HBTS)
200,000x12& = 2,400
0 ML A2
100,000X12& = 1,200
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E Mist: (716) Mel&dl =2:(201) Let29Y| (< M)
e Ol Ab ot MU gx = 2 _ _
2;" . &t ﬁl‘ = J =
A (A) 0l AHOH (B) (A-B) = |
0 PASIGAHI(BEAMNRSEH S)
60,000 X30E X120 & = 21,600
o QIMHI 30,000
201349 SIHUEE HAA 3,000,000& X13] = 3,000
20148 OlAFA S 20,000 X100 X438 X2S = 16,000
HIEX HAMUE € SESEME 100&X50,0000H = 5,000
Asts EE2 =S HE 2,000&X3,0000H = 6,000
0 == 78,000
A BN 22| H RS 4,500,000% 14l = 4,500
ASAEE U A 960
— OFMZHAF 120,000&X4CHX13] = 480
— A2 A 120,000 X40HX13] = 480
gt M A A 60,0002 X60H = 360
OFF A AF 130,000 & X120 A X123] = 18,720
EXMIIAAEI|IZ A 360,000&X13] = 360
SO AEI|IZ A 3,200,000 X13] = 3,200
SEHAAMEH 2.0 =42 2,000,000&X13 = 2,000
ot Xl ZA=2=Z 250,000& X43IX25 = 2,000
MEHSHAE 2422 300,000& X400 2X123] = 14,400
2HIMSE= XD B A 3,500,000&X2IH0 &~ = 7,000
HE4ESAME PES L AES IR A
15,000,000& X 13| = 15,000
DRAESAME QIS SV £42
9,500, 000& X114l = 9,500
o E9H| 62,860
- ZAZAN 2 25,280,000& X 14! = 25,280
IS & H| XA H“UP%E 29,300,000X 14! = 29,300
FOIAHIAAE SA22S4190,000X122 = 2,280
ot Xl 28 Mel |IMAHNES
6,000,000&X13l = 6,000
O /33 s 28 24,100
o YA LG 50,000&X1& X482 = 24,100
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E Mist: (716) Mel&dl =2:(201) Let29Y| (< &)
e Ol Ab ot MU gx = 2 _ _
2;" . &t ﬁl‘ = J =
A (A) 0l AHOH (B) (A-B) = |
O 4x= 23,332
o Z2J/3XD| A E65,000& X2 x12& = 1,560
o A0 € N&ED 2= 1,772
A 4=0|53,900& X201 X128 = 1,294
HI&EJ119,900& X2CH X128 = 478
o AstE M0 EE2g4 2dUE 20,000
20,000,000 X 14! = 20,000
364,249 370,249 AB6,000 |0 2Z2=2494d| (201-2)

[ =222 ] 364,249
O 2222 2 HMHA 348,049
0 RHEEZ 1,600,000 x12& = 19,200
o =22 8,700,000 x12& = 104,400
A2 187,452
CE2EZAESU2A0IAAIE S 2,500,000&X12€ = 30,000

- ASIAE2EIIAAES
728 .94 X150NmX24 Al 2H X200 A X30 = 157,452
o NSXHAI 760
- YK 270,000 X1CHX13 = 70
ST 2EI0{30,000&X1CHX13] = 30
2 E1100,000&X1CHX13] = 100
- HI2F2+280,000& X 1CHX23] = 560
o SIMNEREEZ2 9,980
AIEE 290,000& X238l = 580
2t2 X 700,000& X23] = 9,400
o0 Y¥RLELAJ|IEx=W 22 4,000,000& X204 A = 8,000
0o SN2 4,523
M=o M (A 2)30,0002X128 = 360

HEEr2SH2

60,000 X3 A X128 = 2,160
F=ETMSE A = 31,350RX3IH X128 = 1,129
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(700) AIHIE 8:(710) HAHIE AE:(716) MEH =:(201) LS| CEREE
. o A o HET ox = 2 _ i
2.8 st. 5 O = J =
Al (A) Oil AF 24 (B) (A-B) = |
SMS EXABIARZ 874
- JI2e2312,0008x12& = 144
— A ER23202X20HX5241X365 = 730
0o EER=2 3,380
MNEXEE 550,000 % X6CH = 3,300
JFAAND BHAZHASEE 80,0003 X135 = 80
o 8&3ll 10,354
SIAHBIAAL AZOIEE S 84
— OFA 22| XH36,000& X 1H = 36
— gtgp 22| XH48,0008 X 1H = 48
Aot E 8 59, 600 000&X14l = 9,600
St=20U X Jl=2 &381100,000& X 14! = 100
- MED|=Q0IEs oHE 22| X2S190,000X3H = 570
O 2t x| 16,200
0 XNEHESFO850,000&¥x12& = 10,200
o XNEHEHISA & ADEHl 1,000,000 X604 = 6,000
%?El 101,280 104,280 A3.,000
70.080 70,080 0/07 =UoiEl (202-1)
[ +z==2D ] 70,080
O QAH2IAME NEEZ o]
10,0002 x2&x10Xx12& = 2,400
O ST Yoz
150, 0002 X322 X 128 - 57.600
O ol oAyl
70,000&X4¥ X3« x12& = 10,080
27,000 30,000 A3.000 [0 2SS0iHl (202-3)
[ ~m=aD | 27,000
O sl42e H20S Y Y2ST DA 01|
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5t Mgt (716) Mel=dl =:(206) M| ool HE)
R ol A o HHAT oz = 2 . _
2;" . &t ﬁl‘ = J =
A (A) Oil AF 24 (B) (A-B) = |
121,640 174,640 AB3.000 (O] QB2 (206-1)
[ +==2D | 121,640
O ANESH XM 56,000
o JIAHAARE & HAg T332 5000,000&X7& 35,000
o MIIAE &€ S& XML 3,000,000X7& 21,000
O A2 XM 9,240
o AEZTFU(HAAZIEHE)240,000&X21E 5,040
0 AEADE(2ZMHE=ES) 120,000 X35 4,200
O =& 22 XM 55,000
0 F=EEHADE(DOMAS) 4,000,000&X 6 24,000
o F=&TNS A2E £ 25,000,000 X100 A 25,000
o F=Z&Z4EZ 2IFHIOIH 6,000,000 X1CH 6,000
O QAAXY
MHE=SEE L HHEE 1,400,000 X14! 1,400
2.399,250 2.704,390 A305,140 |[] =] (206-2)
[ =&2=2] ] 2,399,250
O SHMIANH LA
15,000,000 X200 A X13] 30,000
O DEXSTA
4,000& X2,500kgXx210& 2,100,000
O aA2s%E 7 54,330
o DHEA 6,820 X50kgx30 10,230
0 XOIEAALIEE 753X2,800kgx210& 44,100
ABIAIOH(BHA S)
120,000 & X27EX33] 9,720
O Zelster20|s(PAC)
200,000&X10m X90 180,000
O S HAHM A=
3,500& X80kgx90<! = 25,200
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2014
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41,731
39,710
9,854
4,927
14,780
10, 149
9,525
624
2,021
41,030
10,560
360
360

4 X1.5%

X6 55%

EX4.5%
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[und
e
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1 X3%
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=
e
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um §
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e
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=
Meld e

=
=
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=]
A
.

t

200,000&Xx51€&

134,729,0
0 0

10,200

d

A2,440 |0 JIEt=cl=dHl (212-9)

AN4,942
A2,502 |0 Atgl

((212) =el=4
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=
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2| X

e

X202 X6 X128

=

500,000

2

NI EHH
]

X3

=

X128

e

[uins

=

al
S20H4ldl 7,000

(i

X
A4 S =4dl 7,000

mpsl
dl 200,000

P

o=
S
]
=

Pl

=}
H
=
 }
[

- K& 50,000

[m=)
O =&l

p|

_26_




(700) AtSH & (710) IHl= & (716) Mel&EH| =2:(212) =c2lS M| ce o M)
e Ol Ab o MU gx =z 2 ] _
st . Hgt- A = J =
Al (A) 0l AHOH (B) (A-B) = |
50,000&X51H 2,550
21
Desa 7,314 7,314
[ == ] 7,314
O = w=H| 7,314
o JIE3H ALR2UAE250,000&X1EHX13] 250
0 ot4=EHZES|30,000RX424X438] 480
o ZAIUHA JIJIESA HEDR42,000X2HX13) 84
0 JIAAEAIA otA 22| X W =K50,000& X2 X13] 100
o MI|etEZEIES AR =100,000& X4 X13] 400
o X2l Xt EJ1=x50,000&X12X13] 50
o H -olxXHelAE2I I W=150,000&X25EHX13] 3,750
o F=HHEI|J| Mgt ¥ B =440,000X5EX13] 2,200
7,566,515 7,545,390 21,125
7,304,475 6,980,850 323,625 |0 JIEtRAMHl (214-5)

[ 2= ] ,304,475
O dY£E2=SQHMH R2E2 AME2 A2 200,000
o otx=HelAl& 100,000,000&X1A! 100,000
o JIEFAIE 80,000,000 X1A! 80,000
o ZAFAIAE 20,000,000&X 14! 20,000
O otx=Hdel& JIH &I HE SAAIE 22 ,000, 000
o JIAHAIE 600,000,000 X14! 600, 000
o &I, HZE SAAAE 400,000,000& X114 400,000
O odlx==c Xl Heldl ,669,475
0 olEs=dXl S22 12,5002 X225EX210 590,625
o otE=dX XMelzx=£=2 85,000&X65E X210 , 160,250
o ©otE==dXl A2rK2ldl 108,000 X145&E X210 ,288,600

0 olEs=dAl L EFAIEE= M
200,000&X15EX210& 630,000
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HE A&:(716) MelZHl =:(214) =X Wi

. o & o D ox = . _
& &t £ J =
(A) 01l &4 24 (B) (A-8) = !
O staHeIAL HE B A 435,000
0o EnHEF XS 0ISEHO HHUBA
95,000, 000X 14! - 95,000
0 +EEAMEH YoILAX Hel HEBA
150,000, 00024144 = 150,000
0 2415 T OIBIX L LHI| LD
100,000, 000X 144 = 100,000
0 H2+H2lg 2N RAYRH LA
90,000, 0002 X 14! = 90,000
262,040 439,540 A177,500 |00 AIEZHIRIIE (214-6)
[ ~z=a ] 262,040
O SLUFBEE Y LX) AR
2,000%X30,000L = 60,000
O +Z=ZAME =XRX 2 L 24
100,000, 00021144 = 100,000
O REIFT X B
2,640,0002X14] = 2,640
O BHIFUISK 2L
200,0002X 122 = 2,400
ORTIEESIES I
12,000,00021X 14} = 12,000
O ANRMHEBEIFESTZ2
1,500, 0002 X3CH - 4,500
O +ZB2AANLE K22 57,500
0 PCA SYAI& 5,000,0002X2% = 10,000
0 ASAIE 5,000,0002X17 4 = 5,000
o +E=II| 5,000,0002X43] = 20,000
0 +ETMSZHOI 1,875,0002X 128 X174 4 - 22,500
O #zAEIDISNZE 10,000
o OIFHIOIE S 500,0008X20% = 10,000
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(700) At2iHIE |2 (716) MRIRHI S:(214) >R DHH] crol ;@)
s ol AF o HEE o= = 2 - -
2. 8 &t =5 J ES
(A) 0fl &4 (B) (A-8) = !
SHMTZIY SNzl L NABATMHARE
SEIHEZZ O A2l 13,000,000 X 14! 13,000
A 3,288,910 5,052,774 |  A1,763,864
[ 2= ] 3,288,910
O SL4+E=MH HI23 3,087,847
o JI=222 8,050&X7,500kWhX7&X1.1 = 464,888
o AIEE 87&X4,214,000kWhX7&X1.1 2,822,959
O T4 (LA, KR, SZH) @92 1,063
o JIE2822 30,000&X3MAX7EX1.1 = 693
o AFEZE  80RX200kWhX3IH AX7&X1.1 370
A 500 500
500 500 SA2 Sl (216-1)
sE=RD | 500
A 500
o BALY (HAIBIAHEIAL 29 P2lX B8)
300,000&X1H 300
o 2BtEAHl 200,000&X13] 200
300
a0 & 3,599,641 5,749,319 | 2,149,678
301
s D 19,026 22,902 A3,876
9,026 12,902 £3,876 (] ZU2S Q@243 (301-9)
sE=RD | 9,026
Zo2Red 243 9.026
o JlE2 111,400& X2 X12& 2,674
o SAH| 7,000&X222X2EX12& 3,696
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(700) AbEiH 710) AR MBS (716) HRIEHl 2:(301) AVSAD (ctgl @ M)
0] AF oH HEE o= s = -
b &t £ =
(A) Oil AF 24 (B) (A-B) =
o WSEH| 2,000&x22X2@8Xx12& 1,056
o II|=H| 200,000&Xx2HX23| 800
0o Z=4XIEH| 100,000 X2 Xx43] 800
10,000 10,000 O JIEtR A2 (301-12)

[ =222 ] 10,000

O staMel™ 218t Az 2l
10,000,000 X 14! 10,000

304 487.714 524,399 ~36.685
clasoas : ’ ’
400, 164 425,086 AD4.922 |0 1222 (304-1)

[ +m=ay ] 400, 164
O d28egz 195,301
o & Bt & 2,650,837,000& X7% 185,559
o HYBFE 139, 169, 000& X7% 9,742
O ola=g ¥E2 127, 141
o & Bt & 2650,837,000& X4.557% 120,799
o HYBFE 139, 169, 000 & X4 .557% 6,342
O Ex4g 243 rr.ree
o & Bt & 2650,837,000&X2.7857% 73,845
o HE&EE 139, 169,000 & X2.7857% 3,877

87,550 99,313 A11,763 |0 2012298222 (304-2)
[ 2= ] 87,550
O 2olHABs=LD 82,167
0 2 U X 2 650,837,0002X2. 945% 78,068
o HAAE  139,169,0002X2. 945% - 4,099
O LozIQUBE 5,383
o & Bb & 78,068,000 X6.55% = 5,114
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(700) AFIHI®  8:(710) SAHIE  MIS:(716) M2IEH 2:(304) H2RH2S (ct9l @ =)
= = 0] AF oM dEE =X s = =
2. NE -2 + & p =S
A (A) Oil AFOH (B) (A-B) « = |
o YA 4,099,0002X6.55% = 269
307
51910| & 3,092,901 5,202,018 A2,109, 117
3,089, 440 5,196,980 A2,107,540 |1 QI2+9IEE2 (307-5)
[ =227 ] 3,089,440
O DN2Z=QME SH22| 0I2tYE
3,089, 440,000 X 14! = 3,089,440
3,461 5,038 A1,577 |0 92X22 (307-7)
[ 222D ] 3,461
O B2& Mol2az2 3,461
o YBHR 2 650,837,00021X0. 124% = 3,288
o HEAE 139,169,0002X0. 124% = 173
751
o823 H| 775,586 750,060 25,526
300
S AO| 775,586 750,060 25,526
317
_Tl_j|01§tﬂg);”j}t:u:p: 775,586 750,060 25,526
[ ~m=aD ] 775,586
O BlAEQ2 21 ®MAHE 2o 112,862
0 JIZE20091X93,505&X1/2X 122 = 112,206
0 AlE2002IX820FX1/2X8H = 656
O slacga = 2o
32,008, 164, 15521X2/100 = 640, 164
O GtaEo2 42 =2 22,560
o MHELSHE 5021X45,00024X1/2X 122 - 13,500
0 JHAFHIE OIZAHIA HIZ 802IX10,00024X1/2X12L = 4,800
o OIEY! K2 502X8,00024X1/2X 122 = 2,400
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2:(700) NRIHIE B (751) Peraely =:(317) BolPSEs IR za)
. oM | B g9z | 3 2 ) -
2 .8 L b £ =
N (A) ofl & 24 (8) (A-B) ¢ ®
o XIZAr=2Z(EDI) 310,000&X1/2X12& 1,860
2 000 & 2
Herolys 89,000 95,000 £6,000 | |5 59,000 }
771 (= 89,000 = s ]
NELPEEEVE 89,000 95,000 £6,000 | 5, ]
31 (= 89,000 & s ]
e 0l 89,000 95,000 £6,000 | 5 |
89,000 95,000 £6,000 |0 JIEHRILZ0ITAE (311-6)
[ =231 ] 89,000
O Sl+HAREINY BHS 01X A8l
89,000, 000 & X 14! 28888
Chan 8,400 1,083,742 | A1,275,342
A soinman 8,400 1,083,742 | A1,275,342
s man 8,400 1,083,742 | 1,275,342
[ =37 ] 2,400
O BHE By Ba3
10,000& X202 X12& 2,400
[ &7 ] 3,600
O BEE Boupw
10,00021X303IX 122 3,600
[ 2€+ ] 2,400
O BHEE Boy Ba
10,0002 X202 X128 2,400
800
potn 4,081,586 1,000,000 | 3,081,586
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2:(800) OllHIHI &:(810) OliHIHI AI&:(811) OilHIH

(29l : @)
. sk, MEt . Ol &F oM dEE g=x = 2 - R
#-E-HE-s (A) 0jl &+ 24 (B) (A-8) ¢ 8 A=
801
ol Yl bl 4,081,586 1,000,000 3,081,586
801
ol 8l 4,081,586 1,000,000 3,081,586
[ =2=220 ] 4,081,586
O A0l & ollBl Yl
4,081,586, 0002/ X 14! ~ 4.081.586
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2(200) SRS 8:(030) SETASS HE:(234) 222 =:(401) AlSHIL 20 CEREE
o ol A o HET ox = 2 _ _
-8 HE = 3 = J =
Al (A) Oil AF 24 (B) (A-B) « = |
200 (= 15,903,000 & 1,876,500 & w ]
s 35442320 05322365 10,119,955 | (5, | 7 6628201
230
T i = 3,507,582 4,415,563 887,981
234
g 3,517,862 4,390,413 872,551
===
401 3.517.862 4,390,413 AB72.551
AEEIL 2 bl 517, 1390, :
3,494,000 4.363.000 A869.000 |1 AI&HI (401-1)
[ =37 ] 1,475,000
O dlx=E3xE HHl € X 22 395,000
o =LA 1,500,000 X504 A = 75,000
o H=EE <4 700,000 X200 £~ = 140,000
o "1=280] A& 600,000 X500H 2~ = 30,000
o 8l=280] 2= 500,000&X3007H A = 150,000
O =62 HUIZ2A 540,000
o LE:ot=2=2 HHUIZAF 300,000&X1,800m = 540,000
O ot =& & CCTVE Y 240,000
o otx=E=&Z2Al 15,000 X10,000m = 150,000
o0 ot=Ald CCTVEY ZAF 6,000 X15,000m = 90,000
O EelZ ot HHIZBAE 300,000
o Et2l2 ot=2tH ZUIAFE 300,000,000& X 14l = 300,000
[ =232 ] 1,179,000
O BIAEES 2 (O 2 192,000
SIACEADA 15.00081X2,000mK2T HX23] - 120,000
ot= Al CCTV EHXAF 6,000&X%6,000mx23! = 72,000
O dlx=E32Xx=23d8H & SANES 407,000
0 BEAIA 1,500,0008 X407} A - 60,000
o BEE 700.0002X1100 A - 77,000
o Sl=2e0l4ald 600,000 X100IH 2~ = 60,000
o HIESE0|E 4 500,000& X42004 2~ = 210,000
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H(200) RHEXXIE 8:(230) SEXAIFES AHE:(234) RES =2:(401) AIAHI L2 (S+9 : M9)
_ - Ol A oH HET g=x =z 2 , _
2.8 HE-s o & > =
Al (A) Oil AF 24 (B) (A-B) = |
O S E5tz=2 4|2 AHD300mm~1000mm, box)
300, 000&X1,800m = 540,000
O ZUGIASA 24 U KY2YoH 29
40,000,000& X 14! = 40,000
[ 23 ] 840,000
O 8l2ac =& L CTVEY 270,000
o otE=&E=4& 15,000&X10,000m = 150,000
o CCTVEZ 6,000&X20,000m = 120,000
O o= 2EX=EHH £ SNEx 270,000
o =LA 1,500,000 X504 A = 75,000
o =52 700,000 X2000H £ = 140,000
o 2=2A&Hd|l 100,000& X550m = 55,000
O L2542 HUIZA
300, 000& X1,000m = 300,000
23,862 27,413 A3,551 |0 AIZ S04l (401-3)
[ 37 ] 10,134
O 5l4% X2 HH 2 S22
395,000, 000&X0.72% = 2,844
O =542 HUIZA
540,000,000 X0.63% = 3,402
O slaEZ=H o oCTVEY
240,000, 000&X0.72% = 1,728
O EB2I2 5t42H HHI2AH
300,000, 00021 X0. 72% = 2,160
[ =247 ] 7,680
O BlaCEH U CTVEY
192,000, 000& X0.72% = 1,383
O st+T2xe FH L RX2%
402,000, 00021 X0. 72% = 2,895
O L5542 HHI2A
540,000, 000& X0.63% = 3,402
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2(200) HERKE 5:(230) SEULMIHE ME:(234) 222 =2:(401) 2=y cel L mMA)
- = 0] AF oH HEE =X s & = -
2.8 HE S
A (A) il ar 2 (8) (A-8) &« B |
[ 297 | 6,048
O BlaE =& U 00TV 2
270.000,0002X0.72% 1,944
O B4 2x2 By 2 SXE4
270,000,000 X0.72% 1,944
O L2542 HH|ZAl
300,000,0002X0. 72% 2160
037
A 9.720 25 150 A15.430
405
Ay 9.720 25150 A15.430
9.720 25 150 A15.430 |0 KHAHEISHI (405-1)
[ 2==27 ] 9,720
O ANSEEAIII DAY 5.720
o ZEE 1,240,0008 X4CH 4.960
o I2IE{I| 760.0002X10H 760
O HHE DHTY
850, 0002 X4CH 3,400
O HEIl 2 (24I1E)
600, 0002 X1CH 600
260 (= 15,903,000 & 1,876,500 2 D ]
HIlS & KA S = 27,874,738 19,211,888 8.662.850 | [5) Al 10,095, 238]
261 (= 15,903,000 & 1,876,500 2 o ]
= ol Tl 07,874,738 19.211.888 8.662.850 | |5 A 10.095.298]
401 (= 15,903,000 & 1,876,500 2 D ]
T, 27,874,738 19,211,888 8.662.850 | 5, A 10,095, 238]
24,628,000 17.975.798 6.652.202 |0 Al&HI (401-1)
[ +E=2D ] 24,628,000
O ~Z=AME ZOHRINE SX2A
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B(200) RERTS 2:(260) BISHUINAFS ME:(261) ALZIA 2:(401) ASHILS0HH| L)
= = Ol &F o HEE Y= g & = ~
=g .5 &t g J =
& (A) 0l &+ 24 (B) (A-8) = !
11,607,000, 00021 X141 (=) 4 o0 000
() 1,876,500
(A)  4.801,500
O £JI24(0S0s) LT MLAL SXBA
10,350,000, 0001 X141 = 10,350,000
(2) 7,245,000
(A) 3,105,000
O oh4 BRI AR (28 H)
2,671,000, 0002IX 14! = 2,671,000
() 1,763,000
(A) 908,000
3,200,000 1,196,488 2,003,512 |0 2t2ltl (401-2)
[ +2=aD ] 3,200,000
O Hu+E=AMEZHA LR SABALRI B
00,000, 0002 X 14} - 300,000
O HEAZEI4(C30s) QPO H2AA LB 22IS
1,300,000, 00021 X14! = e
(A) 390,000
O HLAISHE BT R HIAIZ (2801
1,600,000, 000IX14! =) 1068000
(A) 544,000
46,738 39,602 7.136 |0 A0 (401-3)
[ +E=D | 46,738
O HUsE=RME ML SXBA
7,482,000, 00021X0. 23% : 17,209
O Bl ZII24(CS0s) QBT H2AAL XA
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B(200) HERTE 8 (060) HIFSHHIKIAFES AE:(261) HAZOLGA 2:(401) AlLHIZ S HH| (o9 : ®e)
. oM | FHHc g9z | 5 2 ) -
2.8.HE-2 ! = ) =
Al (A) Oil AF 24 (B) (A-B) « = |
10,350,000, 000 X0.23% = 23,805
O HUAl BB BOI A (28 H)
1,590,000, 000 X0.36% = 5,724
280
s At 540,000 540,000 0
e omanas 540,000 540,000 0
601
SR, 540,000 540,000 0
540,000 540,000 00 =am=aIATAE (601-4)
[ 2==aD | 540,000
O SI-HARETAY ARAZSHAD) ata
540,000,000 X14! = 540,000
800 3,500,000 1,154,914 2,345,086
o bl 500, 154, 1345,
801 3,500,000 1,154,914 2,345,086
ol bl 500, 154, 345,
801 3,500,000 1,154,914 2.345.086
o bl 500, 154, 1345,
[ 2= ] 3,500,000
O X=0lat ofblbl
3,500,000,000& X14! = 3,500,000
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